SCHMIERSYSTEME

DIRECT LUBRICATION SYSTEMS

7 ) —RAHEIGH T AT A



FlexxPump 1500

J)—Z2RAOBR/NEHEOEE

7 REREHNE S L <X oS v 2l AR v
time-controlled or puls-driven relubrication unit
7 PLCTOXA L7 MHE (=7 —HAasE)
direct controlled by PLC (incl. error-monitoring)
© EANYRCYT (KREART 4 - 1~5 )
piston-pump (1-5 pumpbodies)
7 7 — AR LR R NLGT 2 (ks 1 & T0)
greases up to NIGI 2 (also solid particels)
/7 2—10 Ol A ., H&K 40 BT~ #EE
2-10 outlets; up to 40 lubrication-points
/o BT o T2 B/ A O &
different times and/or quantities of lubricant
< EJ) K T70bar
pressure: max. 70 bar
7 U —AKE 1500 cc
1500cc grease in bellow/pouch
7R EE N OR/NOEDIEE R
low weigth and minimal current consumption
LT T = v
+ (R—)_7 Y > 7| (ball-) bearings
+ U =77 v v |linearblocks
+ R —/1 L7 K ball screw nuts
+ 7 v 7 &= |racks & pinions

+ta—H—g 40k | rotaryjoints FlexxPump 1500: 24 VDC (¥ A 7" 1510)

t..

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 2


http://www.dls-schmiersysteme.de/

FlexxPump 1500

Bl r =4

Technical data

~}1% | dimensions

ERE (A7 L) | weight (without lubricant)
Fte/BhEIFER | function/principle
VR A D 5|

volume of lubricant

LA ha—7 /7 9v 2720 OftiaE |
delivered volume per stroke/pulse

Ry T T O <1z — 1500 cm® |
number of pump hubs / bellow 1500 cm?®
Bh{E[E | operation pressure

TV A |

lubricant

B IR B | operating temperature

M- 10 %K | number of outlets
T8 8 FT O %% | number of lubrication points
Ko/ OHE5E | Lube-connection

B /E®JE | operating voltage

PEREAE T | connecting plug

24V DC T #4E 5t | current consumption at 24V DC
B v {15 F7 118 | installation position

il 40 | control

J£ 77 = % — | pressure monitoring
VAl L~ LE = & — | fill level monitoring
FAE{E(E 5 | error-signal

Bk 2 5 | IP class
NV T ORI | material housing

R 7D A7 FlexxPump 1500 & 2000

27" — A | grease
Ot oll
2 i H 1| outlets
4 - H 7] outlets
6 M- 1] outlets
8 M- 1] outlets
10 M- [ outlets

e L7y —2A

oil or grease

') — A | grease

1 | ol
PN | integrated
PR IR |

internal / external

PLC|
PLC

7 = | optical

162 x 255 x 165 [mm]BxHx T |W x H xD
ca. 4000 g

B A k2R > | piston pump

1500 cm?® (in bellow | 1500 cc in bellow)
2000 ml

0,15 cm?® - | types: 1502/2002

0,15 cm?® - | types: 1504/2004

0,15 cm? - | types: 1506/2006

0,15 cm?® - | types: 1508/2008

0,15 cm?® - | types: 1510/2010

~10000

iz K T0bar max. 70 bar

e R NLGI 2,80k 73 2o m]

up to NLGI 2, with solid parts possible
-20°C...+70°C

BR10 A B L—k

oK. 40 *P

PA-F = — 7 T=6x4 | PA-tube, t=6x4

24V DC (=77 v | via cable)

M12x 1, 4-t°2 |M12 x 1, 4-pin

lnax < 350 MA

47571 | any

TEH | upright

5/ INEEIRE | microelectronic intemn:

PO < REIHIAEL 463 - PLC|

internal: time-controlled; external: PLC

Pk, FEX | integrated, electronic

ik, U — K |integrated, reed contact

= 7 —EE /R EIN, HH LS, NERRENE
sophisticated: bellow empty/backpressure/internal error
kT 4 A7 LA | LCD-display

IP 54

THI=y A, ARYT I K| aluminium, polyamide

_ . g o7
T 7 F/Teix./ M 0o ji;ji T (5 ﬁf;{%ﬁnj = p— ] WRES
/m pump | % e Y s mzﬁb@
1502 2 1 max. 8 1i PLC PLC 540-202-100
3 _ 1504 4 2 max. 16 2 PLC PLC 540-404-200
g 8 r1< ?& 1506 6 3 max. 24 3 PLC PLC 540-606-300
3 % N g 1508 8 4 max. 32 4 PLC PLC 540-808-400
i;i 3 1510 10 5 max. 40 5 PLC PLC 541-010-500
2 fgj = 2002 2 1 max. 8 1 PLC PLC 550-202-100
*i;i = = 2004 4 2 max. 16 2 PLC PLC 550-404-200
§ % i 2006 6 3 max. 24 3 PLC PLC 550-606-300
& 2008 8 4 max. 32 4 PLC PLC 550-808-400
2010 10 5 max. 40 5 PLC PLC 501-010-500
BRIHIOEAEIL I (V) #kF24H (134-002-000) | Merging outlets with Y-tube-connector 134-002-000!
*A7) w2 —%AfH | by using splitters
> SBiERE T 5 2 & TL 0 %< OMIBE T & #E| more lubrication-points by using progressive-distributors.

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 3


http://www.dls-schmiersysteme.de/

FlexxPump 400 DLS

J) —2XAOR/NEHEOHEE
/7 BEy NV ZERE AR T
automatical, puls-driven relubrication unit
/72 PLCTOXA L2 M (=7 —KRAE )
direct controlled by PLC (incl. error-monitoring)
X EARMCYRCT (1-2 DR TRT 4 —)
piston-pump (1-2 pumpbodies)
27U — AR BE & K NLGI3
greases up to NIGI 3 (also solid particels)
7 1-4 o0
1-4 outlets
/o B % E /A O &
different times and/or quantities of lubricant
- JE 71 R 70 bar
pressure: max. 70 bar
27 400cm® 7Y — A1 — Y v
400cc grease in cartridge
7 REE,POR/NEBEBRBEE &
low weigth and minimal current consumption
LT TV =g
suitabel for combinend relubrication of:
+ (R —) X7 Y 7| (ball-) bearings
+ ) =77 w7 |linear blocks
+ A= LT v b |ball screw nuts

+ I &E=F | racks & pinions FlexxPump 400 DLS: 24 VDC (% - 7" 404)
+m—% U — a4 | |rotaryjoints
L

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de ~—| page 4


http://www.dls-schmiersysteme.de/

FlexxPump 400 DLS

Bl r =4

Technical data

~}1% | Dimensions

A7 L | Wight (without lubricant)
Fte/Bh{EIFER | Function/principle
TR

volume of lubricant

1A Ma—7 /72870 O |
delivered volume per stroke/pulse

R TNTOENH— VU ¥ 400 cm? |
number of pump hubs / cartridge 400 cc
BYEIE | operation pressure

¥ A | lubricant

B {EIREE | operating temperature

i H 11 D% | number of outlets

T ¥ 5% T O % | number of lubrication points

B O HEE | Lube-connection

B /E®JE | operating voltage

#ETF | connecting plug

24V DC T /7314 £ & | current consumption at 24V DC
I Y f+13 711 | installation position

Hill f#1 | control
[+ /7€ = & — | pressure monitoring

THEH] L~L o = & — | fill level monitoring
FRENE(E 5 | error-signal

Bk 2 5 % | IP class
N DV T ORI | material housing

Ko7 DX A7 FlexxPump 400 & 500 DLS

7Y — R | grease
1 | ol

1 M- A1 outlet

2 -1 M| outlets

3 1] outlets
4t A | outlets

MWor 77—
oil or grease

7' — A | grease
i | oil

PN | integrated
S48 | external

SPS|

PLC
F7a |
optical

112X 196 x 94 [mm] BxHx T | W x H x D
11209

B A kAR > | piston pump

400 cm® (h—1)v¥" | 400 cc in cartridge)
500 ml

0,15 cm? - type: 401/501

0,15 cm?® - types: 402/422/502/522
0,15 cm®- types: 403/503

0,15 cm®- types: 404/504

~ 2700

max. 70 bar

B R NLGI 3, Tk de ]|

up to NLGI 3, with solid parts possible
-25°C...+70°C

K4 EA, [EE5A]] rightangeld and turnable
ek 16 4

PA-F = — 7", T=6x4 | PA-tube, t=6x4

24V DC (/7" I | via cable)##s¢

M12x 1, 4-t°2 | M12 x 1, 4-pin

| nax < 350 MA

22517 | any

FEH | upright

%/ EE 3 | microelectronic

PLC

Mk, B integrated, electronic

Wi, Y — I |integrated, reed contact

= 7 —EE /TN, LS NERRENE
sophisticated: bellow empty/backpressure/internal error
A7 a L iLED-90° =R 7 & — (134-002-014 /-015)
optional: LED-Connector 90° (134-002-014 / -015)
IP 65

Hign. A Y 7 2 K| znc, polyamide

_ . g o7
w70 Flew | RO ji;ji PR T 1ﬁfjt1uiz{(,/j T= s i i
/i pump | % s D HH mg,% b@
o 401 DLS 1 max. 4 PLC D2 135-140-210
5 g 402 DLS 2 1 max. 8 PLC D2 135-240-210
S = 422DLS | 2 (1+1) 2 max. 8 ++ (1/1) PLC D2 135-240-212
g = 403DLS | 3(2+1) 2 max. 12 ++ (2/1) PLC D2 135-340-210
§ N 404DLS | 4 (2+2) 2 max. 16 ++ (2/2) PLC D2 135-440-210
_§ 501 DLS 1 1 max. 4 PLC D2 135-150-210
g _ 502 DLS 2 1 max. 8 PLC D2 135-250-210
X O  [s22pLs | 2(141) 2 max. 8 ++ (11) PLC D2 135-250-212
% = 503 DLS | 3 (2+1) 2 max. 12 ++ (2/1) PLC D2 135-350-210
- 504 DLS | 4 (2+2) 2 max. 16 ++(2/2) PLC D2 135-450-210
* 27w & —7%fE | by using splitters
AR AT 5 2 & TX Y %< o &£ 7| more lubrication-points by using progressive-distributors.

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 5


http://www.dls-schmiersysteme.de/

T w7 & =F L DO
Lubrication of Pinions and Racks
F—TUFHEEREGESIUS VI DEE

A—TUBBRNOED R T LTIE., BEHMBENITFENDIR

ETY, BlohE, ERICNSHEED a—IL, BFE<T A— FILBEH

FUBBEBMND L VESDIEETY ., FEXRICT—ERERZE

ZHDONCDBETIXBEYITY, hn(xt LTIEDLS TIHAHE

JU—RFO1 #IRELTVET, FO2 L RAKRTY . FO2 LITRAE
(AN Y —RATHI-ZBE/-1DTT,

RUDLEAVE=ZFUICK288EYIRLEE

HDURTLEZMRY KU 2B ICENRIATH G ARRE
BEMM DERMISHBRIZEMTSIETY ., COVRTAIRK
ERENEEE IS v I ICERESELRYILEIEZF UERL
FY, HBEZFUEF. ML EEREET - TN EICHEML S
ATLDZDOEHIZT ) REEVET,

BRI ETEHLELGIEDVATLAICREGRYRLOBEEE

[F. ROFIZRENTWVET ., TORICTIEREIZELEDEHET.

AR Y D LA U E=A L FO1 X F02 4 £ DB 45 HEH O
EREERLTVET,

Lubrication of open spur gear drives and racks

For tooth systems in open drives, an automatic lubrication supply
should be prefered. Exceptions are possible, in the case of very

small modules, slow speed <1m/s and little proceeding movements;
one-time manual lubrication is adequate here. Therefore, we offer an
adhering grease - FO1 - as well as the lubricant FO2 (for an application
in the food industry (with H1-approval)).

Automatic relubrication with polyurethane foamed pinions

A far better technical solution to relubricate the tooth system

is an automatically and continuous spreading of the lubricant

with polyurethane foamed pinions, which is brought into contact with
the drive gear or rack. The lubrication pinion does not transmit a
torque - it only carries the grease to that part of thetooth system it
touches.

The necessary relubrication quantities for different tooth systems with
different running conditions is shown in the diagram below. Conditions
for the validity of the values shown in the table below are the use of a
suitable polyurethane foamed pinion and a proper lubricant like FO1 or
F02.

PU 7 & = A > O 2 22 Al oD it
Lubricant need for Lubrication with PU lubrication pinion

40

30

. / /
=
<
Q
13
o
ko]
g N / / /
= 09 // L~
g 08 - // —
5 o1 )
— 06 L 4
gﬂ 05 /
S o4
£ 0
E o4 ///

02 7//

0,1

2 3 4 5 6 8 10 12
Y a—)b
module

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 6


http://www.dls-schmiersysteme.de/

PU-IHE E =4
PU-Lubrication Pinion
b3 b it PAODE S T 1 P A W

HBE=A UL, A—TowILS—RUDILE o T+—L GRESH-
30°C..#+150° C) THELNTWET, E=FUiE. £ A2 MEIT—H#
[I2&hTWET,

BB E—A U EEIRT 51012, EZAUNT VI FERIERSA
TEZA VIZEE SN ARENHDHRE, HEHI K> TRET IVE
MRHYFET, MEE=FOFEREEEE—F o TORBIFENDN
=TY,

F—ToIR) LR T — LT YT ILDEBE=F & EHRT
5. REWIIESTOED VAT LAIZRELEEHEELET, D
MHEIIRNEDOBBRIZRELET, ChITkYBKBEEITTREL., B
F (FHOLEBDRREL LTEHL D) ZRITHIENTEET,

Technical specification lubrication pinion

The lubrication pinions are made of open cellular polyurethane foam
(temperature range -30° C...+150° C). Pinions are put together with
segments.

To choose the correct lubrication pinion it has to be decided by design,
if the lubrication pinion should be mounted on a rack or drive pinion.
Lubrication at drive-pinion should be prefered.

Using lubrication pinions of an open-cell polyurethane foam mate- rial
ensures an optimal supply of the tooth system over long term
distances. The material stores the lubricant and abrasive it in smallest
quantities. This avoids over-lubrication as well as wear (as a conse-
quence of insufficient lubrication).

PU-IEE =42 - 2k L— b CEH)
PU-Lubrication Pinion - Straight Teeth

———— ME F—=T N T—
/// y RV LE T f—A

S|e| —-—-—-] L 5 material open cellular

polyurethane foam

///
b

Y 2—)b B
Module z* d, d d, B Part No.
2,0 17 38,0 34,0 12,0 20,0 130-020-017
3,0 17 57,0 51,0 12,0 30,0 130-030-017
4,0 17 76,0 68,0 12,0 40,0 130-040-017
5,0 17 95,0 85,0 20,0 50,0 130-050-017
6,0 17 114,0 102,0 20,0 60,0 130-060-017
8,0 17 152,0 136,0 20,0 80,0 130-080-017
10,0 17 190,0 170,0 20,0 100,0 130-100-017

Zz**: # 3 | number of teeth

AT RIRREY 2 —/L 60 £ TORBBAB LT ITONRTA—F—
| On demand: Special design up to module 60 and all parameters disposabel!

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 7


http://www.dls-schmiersysteme.de/

PU-EBE=A4> - ~U il (X913
PU-Lubrication Pinion - Helical teeth

de
d
|
|
d

Z

i

YA, FRUn
helical, right hand

~U v 7 24 | helix angle

19° 317427

ME F—=Tr'NT—
—— RYTLE LT 5—D
=
b material open cellular
polyurethane foam
Y2 —)b BB 5.
Module ™ d, d dy b Part No.
2,0 17 40,1 36,1 12,0 20,0 131-020-017
3,0 17 60,1 54,1 12,0 30,0 131-030-017
4,0 17 80,2 72,2 12,0 40,0 131-040-017
5,0 17 100,2 90,2 20,0 50,0 131-050-017
6,0 17 120,2 108,2 20,0 60,0 131-060-017
8,0 17 160,3 1443 20,0 80,0 131-080-017
10,0 17 200,4 180,4 20,0 100,0 131-100-017
C :‘F_.-_’f o
/ ~U v, ERlh
% helical, left hand
4| —%— -ﬁ ~VU v 7 21| helix angle 19° 31°42”
/ ME =TT —
] _%_ KYTLEL T4 —N
b material open cellular
polyurethane foam
EVa—L g
Module ™ d, d dy b Part No.
2,0 17 40,1 36,1 12,0 20,0 132-020-017
3,0 17 60,1 54,1 12,0 30,0 132-030-017
4,0 17 80,2 72,2 12,0 40,0 132-040-017
5,0 17 100,2 90,2 20,0 50,0 132-050-017
6,0 17 120,2 108,2 20,0 60,0 132-060-017
8,0 17 160,3 1443 20,0 80,0 132-080-017
10,0 17 200,4 180,4 20,0 100,0 132-100-017

Z**: # 4% | number of teeth

T RIREKREY 22—/ 60 £ TCORBKREBLIOTRTONRT A —F—
| On demand: Special design up to module 60 and all parameters disposabel!

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 8


http://www.dls-schmiersysteme.de/

PUMIB E =4 H~ 7 > i
Mounting-Axes

Pos. 1: [EA | right-angled
ME =T A X
material nickel-plated steel
EVa—b Hefoi BB =
Module L Iy I d, connection b kg * Part No.
2,0 51,0 30,0 10 M8 G 1/8" 20 0,14 133-020-001
3,0 61,0 30,0 10 M8 G 1/8" 30 0,17 133-030-001
4,0 71,0 30,0 10 M8 G 1/8" 40 0,20 133-040-001
5,0 81,0 30,0 10 M8 G 1/8" 50 0,25 133-050-001
6,0 91,0 30,0 10 M8 G 1/8" 60 0,45 133-060-001
8,0 111,0 30,0 10 M8 G 1/8" 80 0,64 133-080-001
10,0 131,0 30,0 10 M8 G 1/8" 100 0,90 133-100-001
Pos. 2: A bk L— | | straight
ME =T A X
material nickel-plated steel
TVa— B s
Module L I d, SwW connection b kg * Part No
o
2,0 61,0 30,0 M 10 17 M6 20 0,08 133-020-002
3,0 71,0 30,0 M 10 17 M6 30 0,11 133-030-002
4,0 81,0 30,0 M 10 17 M6 40 0,14 133-040-002
5,0 116,0 49,0 M 16 24 G 1/8" 50 0,45 133-050-002
6,0 126,0 49,0 M 16 24 G 1/8" 60 0,53 133-060-002
8,0 146,0 49,0 M 16 24 G 1/8" 80 0,61 133-080-002
10,0 166,0 49,0 M 16 24 G 1/8* 100 0,87 133-100-002

FLF vy FURRE Y 2 /L 60 F CORBHIE LTS TORT A— 5 —
| On demand: Special design up to module 60 and all parameters disposabel!

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

~—| page 9


http://www.dls-schmiersysteme.de/

FlexxPump ¥ H A 7 U » & —

Splitter for Relubrication Unit FlexxPump

u
]_
T L 1 A7
—1 = R 1 inlet
I ]
]I
B
| IS—
2 i 60
2 outlets
—] —
S e |
— T
FlexxPump A7V v & — (43fil%s) Splitter for FlexxPump
PN Description Hhen 5
Part No
1 A\71,2 177, 77U — A A (60x30x20) 1 inlet, 2 outlets, for grease (60x30x20) 134-005-002
1 A71, 377, 77V — A [ (60x48x20) 1 inlet, 3 outlets, for grease (60x48x20) 134-005-003
1 AN77,4 7, 77U — A (60x60%x20) 1 inlet, 4 outlets, for grease (60x60x20) 134-005-004
1 A\77,2 77, A (60x30%x20) 1 inlet, 2 outlets, for oil (60x30x20) 135-005-006
1 A7, 3 77, i) (60x48x20) 1 inlet, 3 outlets, for oil (60x48x20) 135-005-007
1 A77, 4 177, i) (60x60x20) 1 inlet, 4 outlets, for oil (60x60x20) 135-005-008
FlexxPump O L AIE 1 DO AT Y » & — Each outlet of the FlexxPump can be combined with exactly one
(s LHAGbEDL LN TEET, splitter. Depending on the type of the relubrication unit,
Ry T DX A T2 L0 K 16 (FlexxPump 400/500) max16 (Flexx Pump 400/500) or 40 (FlexxPump 1500/2000).
F K 40 (FlexxPump1500/2000) & AT~ 23 1 > D lubrication points can be fed with one relubrication unit
R T THEETTY, .
1ODORTOAEHIZH LT, 228 LLIX The combination of 2 or more splitters at one the feed of more
ENLL LSRG EMAG DY THERT2 2 21X than 2 lubrication points per one pump outlet is not possible!
TEEEA,
B Note

NERBOHENEINEC6mMTEETEET, PEBOIMY FIFEIEX
FlexxPump OMH OFHEIZLET,

SECERIE FlexxPump DER b VR T EDMAEHLETDHENMEL
£9,

A& EEEROERETEDRBNETESLF/NELLTNSS

EEHRLTLES L, HADBDEAZE8bar ZBAL VL SITL
TLEEW, LEN-T, ERAT—RIERBK. AEORS EEH

D2TLRRENHYET,

HEERIENGI2 FTORE T ) —RITHEMATEETT .

NEHREFERECCTERESHLBFELFTY, BEREEREIE
+10° C?...+60° C

HARFIOZEF, HFICHHOABTHEENES,
WHFEEAZT ) —RAAOREHRIHY EEA,

HHOMICEFES 2EANZEICE LT, BEFIOHKETDOTMICE
BRBENBYET,

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

The splitters are to connect with hoses 6mm outer diameter; the dis-
tance to the outlets of the FlexxPump should be as small as possible.

The splitters operate only in combination with the piston pumps
of the FlexxPump.

Please ensure that differences at the connection of the lubrication
points with the outlets are as small as possible. Pressure diffe-
rences between the outlets should not exceed 8 bar. Therefore,
the hoses used should preferably have similar length and profile.
The splitters are applicable for oil and grease up to NLGI 2.

The splitters operate reliable at a temperature of >10°C min.
Temperature range +10°C...+60°C

The amount of lubricant is evenly divided between the outlets.
No use of Splitters with grease with solid-particles.

Depending on the present pressure differences at the outlets,
the supplied amounts of lubricant can be slightly different.

~—| page


http://www.dls-schmiersysteme.de/

fF:L*—?f:1ﬁ<577“—
tube-connectors

TV = a Application:
FlexxPump 75 75 AT & F o—7 LI EE TR & OB ET connection between lubrication points and plastic tubes from Flexx-
Pump.
Heffit ek _ _
- DfEE sk 80 bar T-ev?/rclrr]llf:glg (é?tee"s.sure max. 80 bar
B %VEY‘%E f30 (::"'+100 c - working temperature -30° C...+100° C
- Wi i, 7Y —2 - fluid oil, grease
- ME Ms 58 (=yw}y3ELER), - material nickel-plated brass 58,
NBR, A7 > L A4 NBR, stainless steel
SRS Features:
B NP E ATk N - full flow for the fluid
CNBENRTOY LS L F AR TCOIERIZ LT - very simple seal function through integrated O-rings with own seat
7R — Kk - can be inserted and extracted
CIR A UAThE - all straight connectors with integrated hexagon socket

; L - all rotary elbow male adaptors can be rotated under pressure
-ETOA P L— MRFIIAAY 7y MEE

- ETOEMET LR — (AR) THTZIIENT

ClAlEA AT hE
Fa—TaRr s —-ARrL—hL tube-connectors - straight
% SR—Tg YA 2 FaeTBT it 2
Description Version worm tube @ T Part No.
Fa—7 | for tube @6
F =2 —7 3% #— | tube connector Ak L— | | straight M6 x 1 6 134-000-001
F 2 —7 2% 7 X — | tube connector A K L— | | straight G1/8 6 134-000-002
F =2 —7 a7 ¥ — | tube connector Ak L— | | straight G1/4 6 134-000-004
F 2 —7 3%/ X — | tube connector A~ L— | | straight M8 x1 6 134-000-005
F 2 —7 a3 Z— | tube connector A bk L— | | straight M6 x0,75 6 134-000-010
F 2 —7 337 & — | tube connector A N L— | | straight M 10 x 1 6 (*) 134-000-011
F =2 —7 ax 7 ¥ — | tube connector A b L— | | straight M6 x1 6 (*) 134-000-014
F 2 —7 237 &% — | tube connector A b L— b | straight M5x0,8 6 134-000-015
F =2 —7 M| for tube @8
F o —7 ax 7 ¥ — | tube connector Ak L— | | straight G1/8 8 134-000-008
F =2 —7 M| for tube @4
F a—7 a7 ¥ — | tube connector A N L— | | straight M6 x1 4 134-000-006
F a2 —7 237 ¥ — | tube connector Ak L— | | straight M3x0,5 4 (*) 134-000-007
F a—7 a7 & — | tube connector A b L— b | straight M6 x 0,75 4 134-000-009
F =2 —7 a7 #— | tube connector Ak L— | | straight G1/8 4 134-000-012
F a—7 a7 #— | tube connector A b L— b | straight M5x0,8 4 134-000-016

* IF/N— 3 > | changed version

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de Seite | page 11


http://www.dls-schmiersysteme.de/

Fa—TaRry H—
tube-connectors

Schlauchanschluss - rechtwinklig

tube-connectors - right-angled

OESS N—T g PR Fa—T7-0T B
Description Version worm tube @ T Part No.

F = —7 H| for tube @6
F=2—7 a7 ¥ — | tube connector B4 (90°) | right-angled M6 x1 6 134-001-001
F 2 —7 a7 & — | tube connector [E.14(90°) | right-angled G 1/8 6 134-001-002
F =2—7 a7 #— | tube connector [B.44(90°) | right-angled M10x1 6 134-001-006
F = —7 a3 & — | tube connector [B.£4(90°) | right-angled G 1/4 6 134-001-009
F = —7 a3 & — | tube connector [H.4(90°) | right-angled M8x1 6 134-001-010
F a—7 a7 &Z— | tube connector [E.£4(90°) | right-angled M6 x0,75 6 134-001-012
F a2 —7 a3 ¥ — | tube connector [H.4(90°) | right-angled M5x0,8 6 134-001-013
F a—7 a7 X — | tube connector [H.£4(90°) | right-angled M6 x1 6 134-001-014
F a2 —7 237 ¥ — | tube connector £ (90°) | right-angled R1/8 6 134-001-016
F o —7 a7 ¥ — | tube connector [H.£4(90°) | right-angled M 10x1 6 (*) 134-001-017

F = — 7 H| for tube @ 4
F 2 —7 337 ¥ — | tube connector [B.44(90°) | right-angled M6 x 1 4 134-001-007
F a—T a7 #— | tube connector [E.£4(90°) | right-angled M3x0,5 4 (*) 134-001-008
F 2 —7 a3 ¥ — | tube connector [B.44(90°) | right-angled M6 x0,75 4 134-001-011
F a—7 a7 — | tube connector [E.£4(90°) | right-angled M5x0,8 4 134-001-020
Fa—Taxy x— tube-connectors
pes e % FaeT@T1 Fa—T-BT2 L
Description Version tube @ T1 tube @ T2 Part No.
F a2 —7 a3 ¥ — | tube connector Ak L— | | straigth 6 6 134-000-104
F a—7 a7 #— | tube connector [EL4(90°) | right-angled 6 6 134-001-104
Fa—7 237 ¥ — | tube connector Ak L— | | straigth 6 8 134-000-105
F 2—7 a7 X — | tube connector A L— | | straigth 6 4 134-000-106
T AT = | Extension A b L— | | straigth 6 8 134-000-108
T A7 i =3 | Extension Z bk L— | | straigth 4 6 134-000-109
Y-F = —7 ax 2 #— | Y-tube connector A K L— | | straigth 6 6 134-002-000

* JSFN— 3 | changed version

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

Seite | page 12



http://www.dls-schmiersysteme.de/

HEEHE - 7 —X
Lubricants - Grease

Standardfett fir offene Verzahnungen

Standard grease for open gears

Fett FO1

- 2FEREIC optium FEEMNARETH D &S ICAREBELEAEDLS
% EXTREM [EFHMAF]., VFIL/AILD I LBKIZEDETET,
-, BIFRERBGRERMEE. AORMaVKR—FRY %
conains £t A,

FirenE

SNAA—=RF—=ToXT7DEHOENGT ) —RELTHRESAT
WE LT,

-BR - BAENFEET ST TUS—2 a v OEWEEICEAT R
EREHICERLET,

-FEf2. BYBMREACEHO,

mEEF-30°C~+150°C £ T

grease FO1

- based on lithium/calcium complex with extrem pressure additives,
which are combined with the soap structure so that an optium
adhesiveness to the metal surface is possible.

- heat-resistant, good corrosion protection attributes, conains
no firm components.

operative ranges:

- had been developed as special grease for high loaded open gears.

- due to the high temperature properties usable for a wide range of
applications, where high temperatures and high loads exist.

- also recommended for slide bearings/bushes.

temperature range -30°C to +150°C

Beschreibung Art.-Nr.
Description Part No.
feste Kartusche flr FlexxPump 400; befillt mit 400 cm?® Fett FO1 000-101-105
cartridge for FlexxPump, pre-filled with 400 cc of grease FO1

Fett-Faltenbalg fir FlexxPump 1500; befiillt mit 1500 cm?® Fett FO1 000-105-115
grease-bellow for FlexxPump 1500; pre-filled with 1500 cc of grease FO1

Fett FO1, 1 kg Dose 000-101-210
grease FO1, 1 kg tin

Fett FO1, 400 cm?, Standardkartusche fiir Handpresse (DIN 1284) 000-101-220

grease FO01, 400 cc, cartridge for handpress

Mit H1-Zulassung:

With H1-approval

Fett FO2

-BRASHE®RT ) —RIZEDEFET

BWERE AF OERROISMEFFHRIERFIEFT T 2 ERRILKET
ERS

- NSF/ H1-&$%

mERY

A=k, Ry b) . RF—LEK, BV - BIEREESEFTO
=8, FEICEFLCMERRE SFG L LVVEERRE EERETOR
B AR

mEEF-40°C~+140°C £ T

grease FO02

synthetic special grease for high temperatures based on

synthetic hydrocarbons with a partial special thickener of high metal
affinity.

NSF/H1-registration

quality attributes:
water (cold, hot) and steam resistant; high thermal and oxidation
stability; for high load; very good wear-protection; high service life
and wide temperature range; optimum lubricating effect at low
friction values

temperature range -40° C to +140° C

Beschreibung Art.-Nr.
Description Part No.
feste Kartusche fiir FlexxPump 400, beflillt mit 400 cm?® Fett F02 000-102-105
cartridge for FlexxPump, pre-filled with 400 cc of grease F02

Fett-Faltenbalg fir FlexxPump 1500; befillt mit 1500 cm?® Fett FO2 000-102-115
grease-bellow for FlexxPump 1500; pre-filled with 1500 cc of grease F02

Fett F02, 1 kg Dose 000-102-210
grease F02, 1 kg tin

Fett FO2, 400 cm?, Standardkartusche fiir Handpresse (DIN 1284) 000-102-220

grease F02, 400 cc, cartridge for handpress

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

Seite | page 13


http://www.dls-schmiersysteme.de/

HEEHE - 7 —X
Lubricants - Grease

Spezialfett fir LinearfiUhrungen & Kugelgewindetriebe

Special grease for linear guideways & ball screws

Fett FO3

-EHFERBESE, ERYFOLBREIN 1 SRSILLAILE
AZN—HJLTY—RI K, ChiF, O—5—ERSA KR7 1YY
S lubri-lBICERL. - BEFTARICELTWS I ENTEET,
SERICEER I —FRAMO—S T T y—2 3 U@L,

- AKEPERICHT B1RE,

FfTHEE

SYZTFRTYLY (BEER—LATYLTHA K, O—5HA K
ER—LBL) OHEE

A —TURTEBCELLEBE DAL L ERERRE OEAED
#T

- BB TSRS & R

IRE#IEE-20°C~+120°C £ T

grease FO03

- short-fibred and homogeneous lithium-saponified universal grease
with one mineral oil. It can be used for roller and slide bearing lubri-
cation and is appropriate for medium and high load applications.

- very adhesive; appropriate for short-stroke applications.

- water resistant and protective against corrosion.

operative ranges:

- lubrication of linear bearings (recirculating ball bearing
guides, roller guides and ballscrews)

- in combination with a lubrication pinion and continuous re-
lubrication suitable for open gear lubrication

- very well conveyable in relubrication units

temperature range -20°C to +120°C

Beschreibung Art.-Nr.
Description Part No.
feste Kartusche fiir FlexxPump 400, befullt mit 400 cm?® Fett FO3 000-103-105
cartridge for FlexxPump, pre-filled with 400 cc of grease F03

Fett-Faltenbalg fir FlexxPump 1500; befullt mit 1500 cm? Fett FO3 000-103-115
grease-bellow for FlexxPump 1500; pre-filled with 1500 cc of grease F03

Fett FO3, 1 kg Dose 000-103-210
grease FO03, 1 kg tin

Fett FO3, 400 cm?, Standardkartusche fir Handpresse (DIN 1284) 000-103-220

grease FO03, 400 cm?, cartridge for handpress

Spezialfett fir Lagerschmierung

Special grease for bearings

Fett FO4

SEUFIOLE, ALY LREBRICED L BM graese
F& M additivies
-2 FLLYDOETOESZA suitabel

FTERE -

-RFY T ER— LR LDEE

A= TUXTEBICELEEEE A L L EEEEE L DA ED
T

-BEBLZ Y MOREETO XA

IRE#IFE-30°C~+130°C £ T

grease FO04

- multipurpose graese based on lithiums-calcium-soap with
EP additivies
- suitabel for bearings with middle-range loads

operative ranges:

- lubrication of bearings and ballscrews

- in combination with a lubrication pinion and continuous re-
lubrication suitable for open gear lubrication

- well conveyable in relubrication units and distributors

temperature range -30°C to +130°C

Beschreibung Art.-Nr.
Description Part No.
feste Kartusche fiir FlexxPump 400, beftillt mit 400 cm?® Fett F04 000-104-105
cartridge for FlexxPump, pre-filled with 400 cc of grease F04

Fett-Faltenbalg fir FlexxPump 1500; befillt mit 1500 cm?® Fett FO4 000-104-115
grease-bellow for FlexxPump 1500; pre-filled with 1500 cc of grease F04

Fett FO4, 1 kg Dose 000-104-210
grease FO04, 1 kg tin

Fett FO4, 400 cm?, Standardkartusche fiir Handpresse (DIN 1284) 000-104-220

grease FO04, 400 cm?, cartridge for handpress

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

Seite | page 14


http://www.dls-schmiersysteme.de/

HEwHE - 77—
Lubricants - Grease

Spezialfett fir offene Verzahnungen Special grease for rack and bearings
Fett FO5 grease FO05

-FILEZ O LEBARBEBRET ST TA b - aluminium complex soap and graphite

S EREOMRICESEES - based on a high quality mineraloil

S BELEEEL BIAEEREERL. BE - - optimum adhesiveness and good corrosion protection

-EXTREM OEBE—FA—T>5 vy . .

COCCTHEEICBNEESET operative ranges:

B E§EE-20°C ~+150°C £ T - lubrication of extrem loaded open racks

/m = - ~ -

- up to 0°C very good conveyable

temperature range -20°C to +150°C

Beschreibung Art.-Nr.
Description Part No.
feste Kartusche fiir FlexxPump 400, befillt mit 400 cm?® Fett FO5 000-105-105

cartridge for FlexxPump, pre-filled with 400 cc of grease F05

Fett-Faltenbalg fur FlexxPump 1500; befillt mit 1500 cm? Fett FO5 000-105-115
grease-bellow for FlexxPump 1500; pre-filled with 1500 cc of grease F05

Fett F05, 1 kg Dose 000-105-210
grease FO05, 1 kg tin

Fett FO5, 400 cm?, Standardkartusche fir Handpresse (System ,Reiner*) 000-105-220
grease FO05, 400 cm?, cartridge for handpress (System ,Reiner*)

Schlauche
tubes
Beschreibung Art.-Nr.
Description Part No.
Schlauch 6x4 - vorgefillt mit Fett FO1 134-003-001

tube 6x4 - pre-filled with grease FO01
Schlauch 6x4 - vorgefllt mit Fett FO2 (*) 134-003-002
tube 6x4 - pre-filled with grease F02
Schlauch 6x4 - vorgefullt mit Fett FO3 134-003-003
tube 6x4 - pre-filled with grease FO03
Schlauch 6x4 - vorgefullt mit Fett FO4 (*) 134-003-004
tube 6x4 - pre-filled with grease F04
Schlauch 6x4 - vorgefullt mit Fett FO5 (*) 134-003-005
tube 6x4 - pre-filled with grease F05

Die Schlauche sind als Meterware lieferbar; Maximallange: 10 m | The tubes are sold by meter; maximum length: 10 m.
(*): Maximallange: 5 m | maximum length: 5m

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de Seite | page 15


http://www.dls-schmiersysteme.de/

FlexxPump 400 X7 U —X% A7
FlexxPump 400 Battery

H#4 B /&, zeitgesteuerter Nachschmiergeber flr Fette

» B B By R R v T
automatical, time-controlled relubrication unit
/2 27=22F) ) A E O LCD 7T 4ATT VAL
X557 77 7h
easy programmable by LCD-Display (incl. error-monitoring)
VA N A 7 VA & VAN N N B ()
piston-pump (1 pumpbodie)
7 )7 V=207 A FRNLGIKL 3 (BRI - E2H D H DB A)
greases up to NIGI 3 (also solid particels)
2 A 1-2 0 R & AT 8
1-2 outlets; max. 8 lubrication-points
77 )T TSN T BRI S 20 o E
s RF [ & ik &
running time and quantity per time-unit programmable
»~ & ) EeK 70 bar
pressure: max. 70 bar
2 )T = A=)y v 2 & 400cm?
400cc grease in cartridge
7 BERBIOCEFMON 97 -
low weigth and long lifetime of battery
7~ BEVEESAE LT Vr-vay:
suitabel for autarkic relubrication of:
+ (K =¥) A 7)) | (ball-) bearings
+1=77" my/ | linear blocks
+ & =42 UFy b | ball screw nuts
+ 797 &t =V | racks & pinions
+o-§Y=y" a{v} | rotary joints
+
Typenubersicht FlexxPump 400 B

FlexxPump 401 B: autarker, zeitgesteuerter Nachschmiergeber Fett
fur bis zu 4 Schmierstellen; fiir 400 cm® Kartusche; PA Gehduse-Abdeckung
(grau); ohne M12x1-Stecker; 3V Batteriebetrieb; (abgebildet: 135-140-000)

Types of FlexxPump 400 B

Type Anzahl unterschiedli- .
Variante Fett/ Flexx- Anz"ahl Schmier- | che Schmier- ,_f\usfuhrung M12x1 IP-Klasse Art.-Nr.
Oel Auslasse i Gehauseabdeckung | Stecker
Pump stellen mengen
re- Tvoe number combination IP dearee of
. 9 yp number of lub- different model M12x1 gr
Variants ase/ | Flexx- s . . protection of Part No.
) of outlets rication quantities housingcover plug
oil Pump e . enclosure
points*/ lubricant
E 401 B 1 max. 4 1 grau | grey - 54 135-140-000
5 % 401 B 1 max. 4 1 Metall | metal - 67 135-140-001
@ S 9 401 B 1 max. 4 1 grau | grey + 54 135-140-010
(0]
5 E § 401 B 1 max. 4 1 Metall | metal + 67 135-140-011
e = 402 B 2 max. 8 1 grau | grey - 54 135-240-000
L O +=
E 5 e 402 B 2 max. 8 1 Metall | metal - 67 135-240-001
[%2]
2 N 402 B 2 max. 8 1 grau | grey + 54 135-240-010
5 402 B 2 max. 8 1 Metall | metal + 67 135-240-011

Hinweise | marks: - Gewichtund Abmessungen: siehe Seite 4 | Weigth and dimensions: see page 4

- Fir den Betrieb von FlexxPump 401 B / 402 B wird die 3V Batterie 134-002-004 bendtigt! | For use of FlexxPump 401 B /402 B 3V-battery 134-002-004 is needed!
- Kabel mit roter LED 134-002-016 (5m Lénge) oder 134-002-017 (10m Lénge) als optionales Zubehor fiir FlexxPump 401 B / 402 B mit M12x1-Stecker erhaltlich. |
Cable with red LED 134-002-016 (5m length) od 134-002-017 (10m length) as optional accessory for FlexxPump 401 B / 402 B with M12x1-plug disposable.

* bei der Verwendung von Mengenteilern/Splittern | by using splitters

** bei Verwendung von Progressivverteilern sind mehr Schmierstellen méglich! | more lubrication-points by using progressive-distributors.

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

Seite | page 16



http://www.dls-schmiersysteme.de/

FlexxPump 400 X7 U —X% A7

FlexxPump 400 & 500
FlexxPump 400 & 500

~ e 1-2:

zeitgesteuerter 24V Nachschmiergeber fur Fette und Ole
AR RS ORI i
automatical, time-controlled relubrication unit
/7 2T=E=f V)T A E O LCD T4 AT VAT
X557 77 7h
easy programmable by LCD-Display (incl. error-monitoring)
<1 ANVE VT
piston-pump (1 pumpbodie)
7)) =207 2 FANLGIKL 3(EHKIT-EHD LD HAH)
greases and oils up to NIGI 3 (also solid particels)

1-2 outlets; max. 8 lubrication-points
277w TAS T AR S 2D o E
fs RF [ & ik H &

running time and quantity per time-unit programmable

7 JE 77 R 70 bar
pressure: max. 70 bar
2 )=An=MyyT 400cm* L < 1 (500ml 4)
400cc grease in cartridge or 500ml oil
7 BB K OVE E R E
low weigth and low current-cumsumption
FEBHEENAE LT N -vay:

suitabel for relubrication of:

+ (8 =) A" 7)) | (ball-) bearings

+ =77 ny/ | linear blocks

+ & =32 CFy b | ball screw nuts

+ 797 &\" =F | racks & pinions

+ 04" a4V} | rotary joints
Typenubersicht FlexxPump 400 & 500

i KM i & AT 8

(k"7 AR 1 #)

FlexxPump 401 zeitgesteuerter 24V DC Nachschmiergeber Fett fiir bis
zu 4 Schmierstellen; fir 400 cm?® Kartusche; Metall Gehause-Abdeckung;
(abgebildet: 135-140-101)

Types of FlexxPump 400 & 500

. Fett/ | JYP® | Anzahi | Anzahl | unterschiedii- | ripnng M12x1
Variante Flexx- N Schmier- | che Schmier- A IP-Klasse Art.-Nr.
Qel Auslasse ek Gehauseabdeckung | Stecker
Pump stellen mengen
re- Tvoe number combination IP dearee of
. 9 yp number of lub- different model M12x1 gr
Variants ase/ | Flexx- s . . protection of Part No.
: of outlets rication quantities housingcover plug
Qil Pump RS . enclosure
points lubricant
3 o 401 1 max. 4 1 PA grau | PA grey + 54 135-140-100
= @
o IS 8 401 1 max. 4 1 Metall | metal + 67 135-140-101
c
g 8 = 402 2 max. 8 1 PA grau | PA grey + 54 135-240-100
& =
J g & 402 2 max. 8 1 Metall | metal + 67 135-240-101
8 g 501 1 max. 4 1 PA grau | PA grey + 54 135-150-100
3 EJ o 501 1 max. 4 1 Metall | metal + 67 135-150-101
R j—
% 8 502 2 max. 8 1 PA grau | PA grey + 54 135-250-100
5 502 2 max. 8 1 Metall | metal + 67 135-250-101
Hinweise | marks: - Gewichtund Abmessungen: siehe Seite 4 | Weigth and dimensions: see page 4
- Zeitgesteuerte 24V Nachschmiergeber FlexxPump 400 / 500 kénnen vom Anwender selbst einfach programmiert und eingestellt werden. |
Time-controlled 24V FlexxPump 400 / 500 iseasy to programm by user,
* bei der Verwendung von Mengenteilern/Splittern | by using splitters
** bei Verwendung von Progressivverteilern sind mehr Schmierstellen méglich! | more lubrication-points by using progressive-distributors.

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de

Seite | page 17


http://www.dls-schmiersysteme.de/

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de Seite | page 18


http://www.dls-schmiersysteme.de/

DLS Schmiersysteme GmbH | www.DLS-Schmiersysteme.de Seite | page 19


http://www.dls-schmiersysteme.de/




